8/20/2016 7:02 PM

si\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion revision\dwgs\awd086.dwg

INSTALLATION NOTES:

1

ONE (1) INSTALLATION ANCHOR IS REQUIRED AT EACH ANCHOR
LOCATION SHOWN, UNLESS OTHERWISE STATED.

THE NUMBER OF INSTALLATION ANCHORS DEPICTED IS THE MINIMUM
NUMBER OF ANCHORS TO BE USED FOR PRODUCT INSTALLATION.

INSTALL INDIVIDUAL INSTALLATION ANCHORS WITHIN A TOLERANCE
OF +1/2 INCH OF THE DEPICTED LOCATION IN THE ANCHOR LAYOUT
DETAIL (I.E., WITHOUT CONSIDERATION OF TOLERANCES).
TOLERANCES ARE NOT CUMULATIVE FROM ONE INSTALLATION
ANCHOR TO THE NEXT.

FOR INSTALLATION THROUGH 2X BUCK USE #10 WOOD SCREWS.
INSTALLATION SHALL CONFORM TO THE FOLLOWING REQUIREMENTS:
4.1. MINIMUM EMBEDMENT OF 1-1/2" INTO WOOD

4.2. MINIMUM EDGE DISTANCE OF 1/2"

4.3. MINIMUM 0O.C. DISTANCE OF 3/4"

FOR INSTALLATION THROUGH METAL FRAME USE #10 SELF-DRILLING,

SAE GR. 5, TYPE SCREWS. INSTALLATION SHALL CONFORM TO THE

FOLLOWING REQUIREMENTS.

5.1. THREE (3) THREADS MINIMUM PENETRATION BEYOND METAL
FRAME WALL.

5.2. MINIMUM EDGE DISTANCE OF 1/2"

5.3. MINIMUM O.C. DISTANCE OF 3/4"

MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDE SHEATHING, &
WALL FINISHES, INCLUDING BUT NOT LIMITED TO STUCCO, FOAM,
BRICK VENEER, AND SIDING.

INSTALLATION ANCHORS AND ASSOCIATED HARDWARE MUST BE
MADE OF CORROSION RESISTANT MATERIAL OR HAVE A CORROSION
RESISTANT COATING.

ASSEMBLY SCREWS, #10 FH SCREWS, ARE LOCATED THROUGH SPACER
CLIPS (ITEM #3) AT 24" O.C.

INSTALLATION ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH
ANCHOR MANUFACTURER'S INSTALLATION INSTRUCTIONS, AND
ANCHORS SHALL NOT BE USED IN SUBSTRATES WITH STRENGTHS LESS
THAN THE MINIMUM STRENGTH SPECIFIED BY THE ANCHOR
MANUFACTURER.

. INSTALLATION ANCHOR CAPACITIES FOR PRODUCTS HEREIN ARE BASED

ON SUBSTRATE MATERIALS WITH THE FOLLOWING PROPERTIES:
WOOD - MINIMUM SPECIFIC GRAVITY OF 0.55.
CONCRETE -MINIMUM COMPRESSIVE STRENGTH OF 3000 PSI.
GROUT-FILLED CMU- UNIT STRENGTH CONFORMS TO ASTM C-90
WITH MINIMUM COMPRESSIVE STRENGTH OF 2000 PSI AND
GROUT CONFORMS TO ASTM C 476, MINIMUM GROUT
COMPRESSIVE STRENGTH OF 2000 PSI.
HOLLOW BLOCK CMU - UNIT STRENGTH CONFORMS TO ASTM
C-90 WITH MINIMUM COMPRESSIVE STRENGTH OF 2000 PSI.
STEEL - MINIMUM WALL THICKNESS OF 54 MILS (16 GA.) WHEN
THROUGH GUSSET INSTALLATION.
ALUMINUM - 1/8" MINIMUM THICKNESS (6063-T5)

1.

ANDERSEN CORPORATION

A-SERIES REINFORCED MULLION
ASSEMBLY

GENERAL NOTES:

THE PRODUCT SHOWN HEREIN IS DESIGNED AND
MANUFACTURED TO COMPLY WITH THE 5TH EDITION (2014)
FLORIDA BUILDING CODE (FBC) INCLUDING HVHZ, 2012
INTERNATIONAL BUILDING CODE & 2012 INTERNATIONAL
RESIDENTIAL CODE. ALL PRODUCTS UNDER THE SCOPE OF
THIS DOCUMENT HAVE BEEN EVALUATED ACCORDING TO
THE 2014 FBC AND THE FOLLOWING:

e TAS201-94

e TAS 202-94

e TAS203-94

. ADEQUACY OF THE EXISTING STRUCTURAL

CONCRETE/MASONRY, 2X AND METAL STUD FRAMING AS A
MAIN WIND FORCE RESISTING SYSTEM CAPABLE OF
WITHSTANDING AND TRANSFERRING APPLIED PRODUCT
LOADS TO THE FOUNDATION IS THE RESPONSIBILITY OF THE
ENGINEER OR ARCHITECT OF RECORD FOR THE PROJECT OF
INSTALLATION.

. 1X AND 2X BUCKS (WHEN USED) SHALL BE DESIGNED AND

ANCHORED TO PROPERLY TRANSFER ALL LOADS TO THE
STRUCTURE. BUCK DESIGN AND INSTALLATION IS THE
RESPONSIBILITY OF THE ENGINEER OR ARCHITECT OF RECORD
FOR THE PROJECT OF INSTALLATION.

. THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC

AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT IN NON-HVHZ
AREAS. IN HVHZ AREAS, ONE TIME PRODUCT APPROVAL TO
BE OBTAINED FROM MIAMI-DADE PERA OR AHJ.

. APPROVED IMPACT PROTECTIVE SYSTEM IS NOT REQUIRED

TO PROTECT THIS PRODUCT IN AREAS REQUIRING IMPACT
RESISTANCE.

WINDOW/DOOR FRAME MATERIAL: PONDEROSA PINE OR

EQUIVALENT (5.G.=0.45).

. IN ACCORDANCE WITH 2014 FBC, WOOD COMPONENTS

SHALL HAVE BEEN PRESERVATIVE TREATED OR SHALL BE OF A
DURABLE SPECIES.

. IN ACCORDANCE WITH THE 2014 FBC, DISSIMILAR METALS

INCLUDING FASTENERS THAT MAY COME INTO CONTACT
WITH ALUMINUM UNIT FRAMING SHALL BE PROTECTED.

. DESIGNATIONS "X" AND "O" STAND FOR THE FOLLOWING:

X: OPERABLE PANEL
O: FIXED PANEL

11.CUSTOM SIZES AVAILABLE UPON REQUEST. CUSTOM DESIGN

PRESSURE WILL BE ASSIGNED EQUAL TO NEXT LARGER
STANDARD SIZE.

12.MULL ASSEMBLIES ARE QUALIFIED FOR TWO OR MORE UNITS

PER OPENING IN THE FOLLOWING CONFIGURATIONS:
e "ONE WAY" - RIBBON OR STACKED MULLIONS
e "TWO WAY" - 'X' OR 'T' MULLIONS

13. GROUPS |, II, & Il CONSIST OF 4-9/16" MULLIONS (ITEM #1A).

GROUPS IV, V, & VI CONSIST OF 6-9/16" MULLIONS
(ITEM #1B)

TABLE OF CONTENTS

PRODUCT ABBREVIATION KEY

REVISION

SHEET DESCRIPTION

ABBREVIATION [PRODUCT NAME

B

GENERAL AND INSTALLATION NOTES

Flexi = |Flexiframe Window

MULL ASSEMBLY SECTIONS (1)

FW =|A Series Specialty Window

MULL ASSEMBLY SECTIONS (2)

MULL ASSEMBLY SECTIONS (3)

MULL ASSEMBLY SECTIONS (4)

Arch. = | Specialty Window

APW =|A Series Picture Window

ATF =|A Series Transom/Fixed

MULL ASSEMBLY SECTIONS (5)

AAN =|A Series Awning

MULL ASSEMBLY SECTIONS (6)

GUSSET - INSTALLATION DETAILS

HALF GUSSET - INSTALLATION DETAILS

ONE-WAY LOAD TABLE: GROUP I

ONE-WAY LOAD TABLE: GROUP IT

ONE-WAY LOAD TABLE: GROUP III

TWO-WAY LOAD TABLE: GROUP I, IT, III

ONE-WAY LOAD TABLE: GROUP IV

ONE-WAY LOAD TABLE: GROUP V

ONE-WAY LOAD TABLE: GROUP VI

ATV =|A Series Venting Transom

ACW =|A Series Casement

ADH =|A Series Double Hung

FWGD =|A Series Frenchwood Glider Door

FWOD =|A Series Frenchwood Outswing Door

FWHID =|A Series Frenchwood Inswing Door

FWSLT =|A Series Sidelite/ Transom Door

MULLING INSTRUCTIONS:

TWO-WAY LOAD TABLE: GROUP IV, V, VI

B.O.M. & COMPONENTS

COMPONENTS (1)

>>|>|w|w|lw|w|lw|w|w|e|>[>]>]>(>]>]>>

COMPONENTS (2)

STEP 1: ESTABLISH MULL ASSEMBLY FRAME TYPES AND
MULL CONFIGURATION.

STEP 2: VERIFY MULL ASSEMBLY CONSTRUCTION FROM
SHEETS 2-7 (REFER TO ABBREVIATION TABLE ABOVE) AND
DETERMINE GROUP NUMBER.

STEP 3: DETERMINE ALLOWABLE LOAD OF MULL ASSEMBLY
FROM APPLICABLE LOAD TABLE BASED ON MULL GROUP
NUMBER, REFER TO SHEETS 9-12.

STEP 4: INSTALL MULLION BASED ON APPLICABLE
SPECIFICATIONS SHOWN ON SHEET 8.

MISSILE IMPACT RATING

SMALL AND LARGE
MISSILE IMPACT RATED

FL#: FL15922

Andersen.

AYY

WINDOWS+*DOORS

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096

PH: (651) 264-5150 FX: (651) 264-5485

TITLE: A SERIES REINFORCED

MULLION ASSEMBLY
GENERAL AND
INSTALLATION NOTES
398 E. DANTIA BEACH BLVD. #338
DANIA BEACH, FL 33004

(954) 744-4738

FX:

PH: (954) 399-8478

REVISIONS

ms | 071116 | £2) BUILDING DROPS, INC.

MS | 02.09.16 | PREPARED BY:

BY | DATE

DESCRIPTION
REV. TO ICNLUDE 6-9/16" MULL
UPDATE MULL TABLES & T.O.C.

HERMES F. NORERO, P.E.
FLORIDA P. E. NO. 73778
BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION NO. 29578

DATE:
0.12.15

(w4

» 5|0




#10 x 1-1/4" FH SCREW'S (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" I

#10 x 1-1/4" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" I

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
0.C. THEREAFTER.

#10 x 1-1/4" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.

4-9/16" I

Andersen.

WINDOWS+*DOORS

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096

PH: (651) 264-5150 FX: (651) 264-5485

FX: (954) 744-4738

6-9/16" Iv 6-9/16" IV 6-9/16" v

FLEXI TO FLEXI / B\ FLEXI TO AAN/ATV/ACW AAN TO FLEXI

VERTICAL OR HORIZONTAL MULL

MULLION ASSEMBLY

8/20/2016 7:02 PM

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 1-1/4" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.

VERTICAL OR HORIZONTAL MULL W VERTICAL OR HORIZONTAL MULL

#10 x 1-1/4" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.

#10 x 1-1/4" FH
SCREWS (SEE INSTALL.
NOTE 8, SHEET 1) 4-6"
FROM END & 8" MAX.
O.C. THEREAFTER.

DANIA BEACH, FL 33004

MULL ASSEMBLY SECTIONS (1)
398 E. DANIA BEACH BLVD. #338
PH: (954) 399-8478

TITLE: A SERIES REINFORCED
12} BUILDING DROPS, INC.

Ms | 02.09.16 | PREPARED BY:

BY | DATE

O.C. THEREAFTER. A O.C. THEREAFTER.

MULL TYPE | GROUP NO. MULL TYPE | GROUP NO. MULL TYPE GROUP NO.
4-9/16" IT 4-9/16" I 4-9/16" I
6-9/16" \% 6-9/16" v 6-9/16" v

ATF/APW TO FLEXI FLEXI TO ADH FLEXITO FW

VERTICAL OR HORIZONTAL MULL VERTICAL OR HORIZONTAL MULL VERTICAL OR HORIZONTAL MULL

#10 x 1-1/4" FH SCREW'S (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" I
6-9/16" v

#10 x 1-1/4" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" IT
6-9/16" \

#10 x 1-1/4" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" II
6-9/16" \4

REVISIONS
DESCRIPTION
REV. TO ICNLUDE 6-9/16" MULL

BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004

HERMES F. NORERO, P.E.
FLORIDA P. E. NO. 73778

si\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion revision\dwgs\awd086.dwg

FBPE CERT. OF AUTHORIZATION NO. 29578

FWTO FW FW TO ADH

VERTICAL OR HORIZONTAL MULL VERTICAL OR HORIZONTAL MULL

FW TO ATF/APW

VERTICAL OR HORIZONTAL MULL

DATE:
0.12.15

» 5|0

SCALE:
NTS

(w4




8/20/2016 7:02 PM

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 1-1/4" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" I
6-9/16" v

AAN/ATV TO FW

VERTICAL OR HORIZONTAL MULL

ACWTO FW

VERTICAL OR HORIZONTAL MULL

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" I
6-9/16" \

ATV TO ADH

HORIZONTAL MULL

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" III
6-9/16" VI

ADH TO ADH

VERTICAL MULL

#10 x 7/8" FH SCREW'S (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.

4-9/16" IIT
6-9/16" VI

#10 x 7/8" FH SCREWS
(SEE INSTALL. NOTE 8,
SHEET 1) 4-6" FROM
END & 8" MAX.

O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" IIT
6-9/16" VI

ATF/APW TO ADH

VERTICAL OR HORIZONTAL MULL

#10 x 7/8" FH SCREWS

(SEE INSTALL. NOTE 8,

SHEET 1) 4-6" FROM
END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" IT
6-9/16" v

Andersen.

WINDOWS+*DOORS

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096

PH: (651) 264-5150 FX: (651) 264-5485

MULLION ASSEMBLY
MULL ASSEMBLY SECTIONS (2)
DANIA BEACH, FL 33004

TITLE: A SERIES REINFORCED
398 E. DANIA BEACH BLVD. #338

12} BUILDING DROPS, INC.

FX: (954) 744-4738

PH: (954) 399-8478

Ms | 02.09.16 | PREPARED BY:

BY | DATE

%)
Z
O
H
V)
H
=
1N
(a4

Z
O
=
[a W
—
oL
QO
)
w
/Al

ATF/APW TO ATF/APW
ACW TO ADH @ V/ERTICAL OR HORIZONTAL M/ULL

VERTICAL MULL

ATV TO ATF/APW

VERTICAL OR HORIZONTAL MULL

REV. TO ICNLUDE 6-9/16" MULL

#10 x 1" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)

#10 x 1" FH SCREWS (SEE

#10 x 7/8" FH SCREWS (SEE INSTALL. NOTE 8, SHEET 1)

INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 1-1/4" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.

O.C. THEREAFTER.

4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.

O.C. THEREAFTER.

si\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion revision\dwgs\awd086.dwg

HERMES F. NORERO, P.E.
FLORIDA P. E. NO. 73778
BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION NO. 29578

MULL TYPE GROUP NO. MULL TYPE GROUP NO. MULL TYPE GROUP NO.
4-9/16" I 4-9/16" I 4-9/16" I
6-9/16" v 6-9/16" v 6-9/16" v

/R AAN/ATV TO AAN/ATV ARCH. TO FLEXI ARCH. TO AAN/ATV

3 VERTICAL OR HORIZONTAL MULL VERTICAL OR HORIZONTAL MULL VERTICAL OR HORIZONTAL MULL

DATE:
0.12.15

» 5|0

SCALE:
NTS

ACWTO ACW ARCH. TO ACW

3 VERTICAL OR HORIZONTAL MULL VERTICAL OR HORIZONTAL

(w4




=

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 1" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" I
6-9/16" v

8\®

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 1 FH SCREW'S (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" II
6-9/16" \

4

#10 x 1" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
0.C. THEREAFTER,

MULL TYPE | GROUP NO.
4-9/16" I
6-9/16" v

Andersen.

WINDOWS+*DOORS

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096

PH: (651) 264-5150 FX: (651) 264-5485

MULLION ASSEMBLY

FX: (954) 744-4738

DANIA BEACH, FL 33004

ARCH. TO ADH

VERTICAL OR HORIZONTAL MULL

AAN TO ARCH. /X ATF/APW TO ARCH.

HORIZONTAL MULL VERTICAL OR HORIZONTAL MULL

TITLE: A SERIES REINFORCED
MULL ASSEMBLY SECTIONS (3)

£2) BUILDING DROPS, INC.

398 E. DANIA BEACH BLVD. #338

PH: (954) 399-8478

8/20/2016 7:02 PM

si\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion revision\dwgs\awd086.dwg

ARCH TO FW

#10 x 1" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 1-1/4" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" I
6-9/16" v

VERTICAL OR HORIZONTAL MULL

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" IIT
6-9/16" VI

ATF TO FWGD

VERTICAL OR HORIZONTAL MULL

#10 x 1-1/4" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" II
6-9/16" \

FLEXITO FWGD

VERTICAL OR HORIZONTAL MULL

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" II
6-9/16" \

ATV TO FWGD

VERTICAL OR HORIZONTAL MULL

#10 x 1-1/4" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" II
6-9/16" v

FW TO FWGD

(AE\

VERTICAL OR HORIZONTAL MULL

#10 x 7/8" FH SCREWS
(SEE INSTALL. NOTE 8,
SHEET 1) 4-6" FROM
END & 8" MAX.

O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" IIT
6-9/16" VI

FWSLT TO FWGD

VERTICAL OR HORIZONTAL MULL

Ms | 02.09.16 | PREPARED BY:

BY | DATE

%)
Z
O
H
V)
H
=
1N
(a4

Z
O
=
[a W
—
oL
QO
)
w
/Al

REV. TO ICNLUDE 6-9/16" MULL

HERMES F. NORERO, P.E.
FLORIDA P. E. NO. 73778
BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION NO. 29578

DATE:
0.12.15

SCALE:
NTS

(w4

» 5|0




8/20/2016 7:02 PM

si\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion revision\dwgs\awd086.dwg

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" II
6-9/16" \4

FWGD TO FWGD

VERTICAL MULL

ATF TO FWHID

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" III
6-9/16" VI

VERTICAL OR HORIZONTAL MULL

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" III
6-9/16" VI

FWHID TO FWHID

VERTICAL MULL

#10 x 1-1/4" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
0.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" I
6-9/16" \2

FLEXI TO FWHID

ATV TO FWHID

VERTICAL OR HORIZONTAL MULL

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" II
6-9/16" \2

(AN

VERTICAL OR HORIZONTAL MULL

#10 x 1-1/4" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" I
6-9/16" \2

FLEXI TO FWOD

VERTICAL OR HORIZONTAL MULL

#10 x 1-1/4" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
0.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" II
6-9/16" \4

FW TO FWHID

FWSLT TO FWHID

VERTICAL OR HORIZONTAL MULL

#10 x 7/8" FH SCREWS
(SEE INSTALL. NOTE 8,
SHEET 1) 4-6" FROM
END & 8" MAX.

O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" III
6-9/16" VI

VERTICAL OR HORIZONTAL MULL

#10 x 1-1/4" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" II
6-9/16" \4

FW TO FWOD

VERTICAL OR HORIZONTAL MULL

Andersen.

WINDOWS+*DOORS

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096
PH: (651) 264-5150 FX: (651) 264-5485

FX: (954) 744-4738

MULLION ASSEMBLY

MULL ASSEMBLY SECTIONS (4)
DANIA BEACH, FL 33004

TITLE: A SERIES REINFORCED
PH: (954) 399-8478

398 E. DANIA BEACH BLVD. #338

12} BUILDING DROPS, INC.

Ms | 02.09.16 | PREPARED BY:

BY | DATE

%)
Z
O
H
V)
H
=
1N
(a4

Z
O
=
[a W
—
oL
QO
)
w
/Al

REV. TO ICNLUDE 6-9/16" MULL

HERMES F. NORERO, P.E.
FLORIDA P. E. NO. 73778
BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION NO. 29578

DATE:
0.12.15

SCALE:
NTS

(w4

» 5|0




Andersen.

#10 x 7/8" FH SCREWS
(SEE INSTALL. NOTE 8,
SHEET 1) 4-6" FROM
END & 8" MAX.

O.C. THEREAFTER.

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

WINDOWS+*DOORS

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096
PH: (651) 264-5150 FX: (651) 264-5485

FX: (954) 744-4738

MULL TYPE | GROUP NO. MULL TYPE | GROUP NO. MULL TYPE | GROUP NO.
4-9/16" IIT 4-9/16" I 4-9/16" 11
6-9/16" Vi 6-9/16" v 6-9/16" VI

ATV TO FWOD FWSLT TO FWOD

VERTICAL OR HORIZONTAL MULL VERTICAL OR HORIZONTAL MULL

MULLION ASSEMBLY

MULL ASSEMBLY SECTIONS (5)
DANIA BEACH, FL 33004

PH: (954) 399-8478

ATF TO FWOD

VERTICAL OR HORIZONTAL MULL

TITLE: A SERIES REINFORCED
398 E. DANIA BEACH BLVD. #338

12} BUILDING DROPS, INC.

#10 x 7/8" FH SCREWS (SEE #10 x 7/8" FH SCREWS

8/20/2016 7:02 PM

si\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion revision\dwgs\awd086.dwg

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" II
6-9/16" \2

FWOD TO FWOD

VERTICAL MULL

ATF TO FWSLT

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
0.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" IIT
6-9/16" VI

VERTICAL OR HORIZONTAL MULL

(AS\

INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" III
6-9/16" VI

FWSLT TO FWSLT

FW TO FWSLT

VERTICAL OR HORIZONTAL MULL

#10 x 1-1/4" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 7/8" FH SCREW'S (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.

4-9/16" II
-97T6" v

VERTICAL OR HORIZONTAL MULL

(SEE INSTALL. NOTE 8,
SHEET 1) 4-6" FROM
END & 8" MAX.

O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" II
6-9/16" \4

ATV TO FWSLT

(AW,

VERTICAL OR HORIZONTAL MULL

#10 x 1-1/4" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

FLEXI TO FWHID

MULL TYPE | GROUP NO.
4-9/16" II
6-9/16" \4

HORIZONTAL OR VERTICAL MULL

Ms | 02.09.16 | PREPARED BY:

BY | DATE

%)
Z
O
H
V)
H
=
1N
(a4

Z
O
=
[a W
—
oL
QO
)
w
/Al

REV. TO ICNLUDE 6-9/16" MULL

HERMES F. NORERO, P.E.
FLORIDA P. E. NO. 73778
BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION NO. 29578

DATE:
0.12.15

SCALE:
NTS

(w4

» 5|0




8/20/2016 7:02 PM

si\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion revision\dwgs\awd086.dwg

#10 x 1-1/4" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
0.C. THEREAFTER.

#10 x 7/8" FH SCREWS (SEE

INSTALL. NOTE 8, SHEET 1)

4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
0.C. THEREAFTER.

MULL TYPE

GROUP NO.

4-9/16"

IT

6-9/16"

\

FW TO FWHID

HORIZONTAL OR VERTICAL MULL

MULL TYPE | GROUP NO.
4-9/16" IIT
6-9/16" VI

ATF TO FWHID

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE

GROUP NO.

4-9/16"

III

6-9/16"

VI

/BA\  FWSLT TO FWHID

VERTICAL MULL

(BB

HORIZONTAL OR VERTICAL MULL

#10 x 7/8" FH SCREWS (SEE
INSTALL. NOTE 8, SHEET 1)
4-6" FROM END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" IIT
6-9/16" VI

FWHID TO FWHID

VERTICAL MULL

#10 x 7/8" FH SCREWS
(SEE INSTALL. NOTE 8,
SHEET 1) 4-6" FROM
END & 8" MAX.

O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" IT
6-9/16" \4

ATV TO FWHID

VERTICAL OR HORIZONTAL MULL #10 x 7/8" FH SCREWS

(SEE INSTALL. NOTE 8,

SHEET 1) 4-6" FROM
END & 8" MAX.
O.C. THEREAFTER.

MULL TYPE | GROUP NO.
4-9/16" II
6-9/16" \2

ATF/APW TO ACW

VERTICAL OR HORIZONTAL MULL

Andersen.

WINDOWS+*DOORS

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096
PH: (651) 264-5150 FX: (651) 264-5485

FX: (954) 744-4738

MULLION ASSEMBLY

MULL ASSEMBLY SECTIONS (6)
DANIA BEACH, FL 33004

TITLE: A SERIES REINFORCED
PH: (954) 399-8478

398 E. DANIA BEACH BLVD. #338

72} BUILDING DROPS, INC.

Ms | 02.09.16 | PREPARED BY:

BY | DATE

%)
Z
O
H
V)
H
=
1N
(a4

Z
O
=
[a W
—
oL
QO
)
w
/Al

REV. TO ICNLUDE 6-9/16" MULL

HERMES F. NORERO, P.E.
FLORIDA P. E. NO. 73778
BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION NO. 29578

DATE:
0.12.15
SCALE:
NTS

(w4

» 5|0




8/20/2016 7:02 PM

s:\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion revision\dwgs\awd086.dwg

Andersen.

Ay

WINDOWS+*DOORS

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096
PH: (651) 264-5150 FX: (651) 264-5485

|

p)

|

| C

(2) #10 x 2-1/4" FH (2) #10 x 2-1/4" FH
SCREWS THROUGH EA.

HORIZONTAL SECTION  XTereecrron /BG\ HORIZONTAL SECTION  rurersecTion

JOINING DETAIL BRACKET INTO END \y JOINING DETAIL BRACKET INTO END
'X' MULLION JOINT PLUG 'T' MULLION JOINT PLUG

FX: (954) 744-4738

MULLION ASSEMBLY
INSTALLATION DETAILS
DANIA BEACH, FL 33004

TITLE: A SERIES REINFORCED
PH: (954) 399-8478

398 E. DANIA BEACH BLVD. #338

72} BUILDING DROPS, INC.

MS | 02.09.16 | PREPARED BY:

BY | DATE

NOTE:

INSTALLATION DETAILS ARE
APPLICABLE TO 6-9/16" REINFORCED
MULLION ASSEMBLIES.

ADJACENT WINDOW
FRAMES, UNDER (2) #10 x 2-1/4" GR. 5 FH
SEPARATE APPROVAL SCREWS THROUGH
GUSSET TO END PLUG

Z
O
E
[a W
—
oL
QO
)
w
/Al

%)
Z
O
H
Ty
H
=
1N
(a4

REV. TO ICNLUDE 6-9/16" MULL

(8) #8 x 5/8" FH A ¢L .
SCREWS THROUGH (2} #10 x 2-1/4" GR. 5 FH (2) #10 x 2-1/4" GR. 5

GUSSET TO EACH \ SAREWS THROUGH Zm CREWS THROUGH
S|

A

ADJACENT FRAME GUSET TO END PLUG ET TO END PLUG

\ | /—|(?J> #10 TEK SCREW

O METAL STUD
(6) #10 PAN HEAD

I I ( I I 4._ WOOD ScREWS TO I 4._
— WOOD SUBSTRATE

® (

AN MIN. 1/2" EDGE j

MIN. 1/2" EDGE j = L

BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338

DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION NO. 29578

HERMES F. NORERO, P.E.
FLORIDA P. E. NO. 73778

(10) #10 PAN HEAD DISTANCE MIN. 1-1/2" DISTANCE ] MIN. 3 THREADS

WOOD SCREWS TO EMBEDMENT — PENETRATION
WOOD OR #10 TEK

EXTERIOR VIEW S S TOMEA/BD\ VERTICALSECTION  /BE\ VERTICAL SECTION
MULLION ANCHOR DETAIL W MULLION ANCHOR DETAIL w MULLION ANCHOR DETAIL

GUSSET INSTALLATION - TYP. GUSSET INSTALLATION - WOOD GUSSET INSTALLATION - METAL STUD

DATE:
0.12.15
LMS
SCALE:
NTS

*IDWN BY:

> 3|
=
oo
(@)}

(w4

O



8/20/2016 7:02 PM

s:\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion revision\dwgs\awd086.dwg

(8) #8 X 5/8"FH
SCREWS THROUGH

HALF GUSSET TO EACH

ADJACENT FRAME

©
©

©)

K

© O

PLAN VIEW

MULLION ANCHOR DETAIL
HALF GUSSET INSTALLATION - TYP.

ADJACENT WINDOW
FRAMES, UNDER
SEPARATE APPROVAL

(2) #10 GR. 5 PH SCREWS THROUGH
EA. HALF GUSSET FLANGE INTO
MULLION

LENGTH = 7/8" FOR ALL PRODUCTS
EXCEPT, 1" FOR ARCH. & 1-1/4" FOR
FLEXT & FW

(2) #10 GR. 5 PH SCREWS THROUGH

HALF GUSSET FLANGE INTO

MULLION

LENGTH = 7/8" FOR ALL PRODUCTS
EXCEPT, 1" FOR ARCH. & 1-1/4" FOR

FLEXI & FW

(8) #8 x5/8" FH
SCREWS THROUGH
HALF GUSSET TO EACH

ADJACENT FRAME

\

| I | I | LI

NOTE:

INSTALLATION DETAILS ARE
APPLICABLE TO 6-9/16" REINFORCED
MULLION ASSEMBLIES.

(6) #10 PH WOOD
SCREWS TO WOOD

| B | N | N | N

| -

g g =g !

f@@;@@@\@@@@

(6) #10 PH WOOD
SCREWS TO WOOD OR
#10 TEK SCREWS TO
METAL STUD

EXTERIOR VIEW

@ \©® e J
\ MIN. 1/2" EDGE

@ DISTANCE

VERTICAL SECTION

MULLION ANCHOR DETAIL
HALF GUSSET INSTALLATION - TYP.

MIN. 1-1/2"
EMBEDMENT

MIN. 1/2" EDGE j

DISTANCE

N

==

(2) #10 GR. 5 PH SCREWS THROUGH
HALF GUSSET FLANGE INTO
MULLION

LENGTH = 7/8" FOR ALL PRODUCTS
EXCEPT, 1" FOR ARCH. & 1-1/4" FOR
FLEXT & FW

(6) #10 TEK
SCREWS TO
| | IMETAL sTUD

_Y_=D[ J|

MIN. 3 THREADS
PENETRATION

VERTICAL SECTION

Andersen.

WINDOWS+*DOORS

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096
PH: (651) 264-5150 FX: (651) 264-5485

FX: (954) 744-4738

MULLION ASSEMBLY
HALF GUSSET
INSTALLATION DETAILS

DANIA BEACH, FL 33004

TITLE: A SERIES REINFORCED
PH: (954) 399-8478

398 E. DANIA BEACH BLVD. #338

72} BUILDING DROPS, INC.

MS | 02.09.16 | PREPARED BY:

BY | DATE

REVISIONS
DESCRIPTION
REV. TO ICNLUDE 6-9/16" MULL

HERMES F. NORERO, P.E.
FLORIDA P. E. NO. 73778
BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION NO. 29578

MULLION ANCHOR DETAIL
HALF GUSSET INSTALLATION - WOOD

\9/

MULLION ANCHOR DETAIL
HALF GUSSET INSTALLATION - METAL STUD

DATE:

0.12.15

SCALE:
NTS

(w4

» 5|0




8/20/2016 7:02 PM

s:\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion revision\dwgs\awd086.dwg

MAXIMUM DESIGN PRESSURE CAPACITY CHART (PSF): GROUP |
L - Mull W - Tributary Width (in) Andersen3
Length (in)| 180 | 210 | 240 | 27.0 | 300 | 330 | 360 | 420 | 480 | 540 | 60.0 66.0 | 720 | 780 | 840 | 90.0 | 960 | 1020 | 108.0 | 1140 | 1200 | 126.0 | 132.0 | 1380 | 144.0 AY \/
240 | 1000 | 1000 | 100.0 | 100.0 | 1000 | 1000 | 1000 | 100.0 | 100.0 | 1000 | 100.0 | 1000 | 100.0 | 1000 | 1000 | 100.0 | 100.0 | 1000 | 1000 | 100.0 | 100.0 | 100.0 | 1000 | 100.0 | 100.0
300 | 100.0 | 1000 | 1000 | 100.0 | 100.0 | 1000 | 1000 | 1000 | 100.0 | 100.0 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 100.0 | 1000 | 1000 | 100.0 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 100.0 o
360 | 100.0 | 1000 | 1000 | 100.0 | 100.0 | 1000 | 1000 | 1000 | 100.0 | 100.0 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 100.0 | 1000 | 1000 | 100.0 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 100.0 WINDOWS +DOORS
420 | 1000 | 1000 | 1000 | 100.0 | 100.0 | 1000 | 1000 | 1000 | 100.0 | 100.0 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 100.0 | 1000 | 1000 | 100.0 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 100.0
480 | 1000 | 1000 | 1000 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 1000 | 1000 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 100 FOURTH AVE NORTH
540 | 1000 | 1000 | 100.0 | 100.0 | 1000 | 100.0 | 1000 | 1000 | 100.0 | 100.0 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 100.0 | 100.0 P (650 2605150 o (351 264-5485
60.0 | 1000 | 1000 | 100.0 | 1000 | 1000 | 100.0 | 100.0 | 100.0 | 1000 | 1000 | 1000 | 100.0 | 100.0 | 100.0 | 1000 | 1000 | 100.0 | 100.0 | 100.0 | 1000 | 1000 | 100.0 | 100.0 | 100.0 | 100.0
66.0 | 100.0 | 100.0 | 100.0 | 1000 | 1000 | 100.0 | 1000 | 1000 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 1000 | 1000 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 100.0 a S
720 | 1000 | 1000 | 100.0 | 1000 | 1000 | 100.0 | 1000 | 100.0 | 1000 | 9638 93.4 914 | 908 | 908 | 908 | 908 | 908 | 98 | 908 | 908 | 98 | 908 | 908 | 9.8 | 9038 SR GHe 3
780 | 1000 | 1000 | 100.0 | 1000 | 1000 | 100.0 | 1000 | 983 | 908 | 854 81.7 792 | 778 | 73 | 773 | 773 | 73 | 73 | 173 | 773 | 73 | 73 | 773 | 713 | 773 2 3 Z58 %
840 | 1000 | 1000 | 100.0 | 100.0 | 1000 | 1000 | 99.0 889 | 817 | 751 70.2 667 | 643 | 620 | 624 | 624 | 624 | 624 | 624 | 624 | 624 | 624 | 624 | 624 | 624 Ay e 8
90.0 | 1000 | 1000 | 100.0 | 100.0 | 1000 | 96:6 89.4 782 | 701 | 641 59.6 562 | 538 | 521 | 511 | 508 | 508 | 508 | 508 | 508 | 508 | 508 | 508 | 50.8 | 508 WY 3 SIT %
960 | 1000 | 1000 | 100.0 | 100.0 | 923 | 845 78.0 681 | 608 | 554 51.3 48.1 457 | 440 | 428 | 421 | 418 | 418 | 418 | 418 | 418 | 418 | 418 | 418 | 418 PEE 237 ©
1020 | 1000 | 100.0 | 100.0 | 90.0 | 814 | 745 | e87 508 | 533 | 484 | 447 417 | 395 | 377 | 365 | 356 | 351 | 349 | 349 | 349 | 349 | 349 | 349 | 349 | 349 R I g W
108.0 | 1000 | 100.0 | 896 | 80.0 | 724 | 662 | 610 530 | 472 | 427 39.3 366 | 345 | 328 | 315 | 306 | 209 | 205 | 204 | 204 | 204 | 204 | 204 | 204 | 294 w3 2|3 z5a §
1140 | 1000 | 915 | 803 | 717 | 648 | 592 54.6 473 | 420 | 380 34.8 324 | 304 | 288 | 276 | 266 | 259 | 2564 | 251 | 250 | 260 | 250 | 250 | 250 | 250 <= 2|p 325 &
1200 | 959 | 825 | 724 | 646 | 583 | 533 | 49 425 | 377 | 340 311 289 | 270 | 256 | 244 | 234 | 227 | 221 | 217 | 215 | 214 | 214 | 214 | 214 | 214 3 a3z e
1260 | 870 | 747 | 656 | 585 | 528 | 482 | 444 384 | 340 | 307 | 280 259 | 242 | 228 | 217 | 208 | 201 | 195 | 191 | 187 | 186 | 185 | 185 | 185 | 185 Wy S 2uwd 3}
1320 | 792 | 680 | 597 | 532 | 480 | 438 | 403 349 | 309 | 278 | 253 234 | 218 | 205 | 195 | 186 | 179 | 173 | 169 | 165 | 163 | 161 | 1641 | 161 | 161 E ¥EE  :
1380 | 694 | 596 | 523 | 467 | 422 | 385 35.5 307 | 272 | 245 22.4 207 | 193 | 182 | 172 | 165 | 158 | 153 - : ! ! ! - - a o _°
1440 | 610 | 524 | 460 | 410 | 374 33.8 311 269 | 238 | 214 19.6 181 168 | 158 - - - - - ! ! - - - - wlele
Ela| S
NOTE: W A HE
1) MULLION CHART APPLIES TO 4-9/16" (ITEM #1A) GROUP | REINFORCED COMPOSITE MULL =~ oo
ASSEMBLIES, WHEN MULLED IN ONE-WAY, STACK OR RIBBON, CONFIGURATIONS. . 7 o |=]=
2) DESIGN PRESSURE VALUES ARE POSITIVE AND NEGATIVE IN PSF. / (Vp)
3) MAXIMUM DEFLECTION HAS BEEN LIMITED TO L/180. Z N
4) DESIGN PRESSURE OF ASSEMBLY IS LIMITED TO THE LESSER DESIGN PRESSURE OF THE MULLION Z o 3|
ASSEMBLY OR THE INDIVIDUAL UNIT OF INSTALLATION. ADJACENT WINDOWS OR DOORS SHALL Il Z i -
BE UNDER SEPARATE FL OR MIAMI-DADE APPROVAL. Vp) 8 Sl e
5) MULLION CHART APPLIES TO THE FOLLOWING INSTALLATION CONDITIONS: L Hl & Lﬁ E‘g‘
e GUSSET INSTALLATION TO WOOD OR METAL STUD % >| & A
e HALF GUSSET INSTALLATION TO WOOD OR METAL STUD. wi g g =)
6) TRIBUTARY WIDTH = W = (A+B)/2 rf e =513
7) REFER TO SHEETS 8 & 9 FOR INSTALLATION DETAILS. : 3
8) WHEN WINDOWS ARE STACKED VERTICALLY, THE MANUFACTURER/INSTALLER SHALL ENSURE A=
THAT THE WEIGHT OF UNITS ABOVE WILL NOT CAUSE DEFLECTIONS OR STRESSES WHICH WILL %
AFFECT OPERATION OR STRUCTURAL ADEQUACY OF UNITS BELOW.
ugn i "An
L

BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338

HERMES F. NORERO, P.E
FLORIDA P. E. NO. 73778
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION NO. 29578

nAY

A\
o _ 4

=
%
%

NTS

DATE:
10.12.15

*IDWN BY:

N

Vi
£ 2
__l
S
Olg
Sl e}
—|co
Ollon

LMS
CHK BY:
HFN
SCALE




8/20/2016 7:03 PM

s:\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion revision\dwgs\awd086.dwg

MAXIMUM DESIGN PRESSURE CAPACITY CHART (PSF): GROUP II
L - Mull W - Tributary Width (in) Andersena
Length (in)[ 18,0 21.0 24.0 27.0 30.0 33.0 36.0 42.0 48.0 54.0 60.0 66.0 72.0 78.0 84.0 90.0 96.0 1020 | 108.0 | 114.0 | 1200 | 1260 | 132.0 | 138.0 | 144.0 Y.y
24.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 100.0 100.0 | 1000 | 100.0 100.0 100.0 100.0 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 A
30.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 100.0 100.0 | 100.0 | 100.0 100.0 100.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0
36.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 100.0 100.0 | 100.0 | 100.0 100.0 100.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 M
42.0 100.0 100.0 100.0 100.0 100.0 | 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 WINDOWS Y DOOR'S
48.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 100.0 100.0 | 1000 | 100.0 100.0 100.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 PP —
54.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 100.0 100.0 | 1000 | 100.0 100.0 100.0 100.0 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 BAYPORT, MN 55003-1096
60.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 100.0 100.0 | 1000 | 100.0 100.0 100.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 PH: (651) 264-5150 FX: (651) 264-5485
66.0 1000 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 100.0 100.0 | 1000 | 100.0 100.0 100.0 100.0 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 100.0 | 1000 | 100.0 A % 2
72.0 1000 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 100.0 100.0 | 100.0 9.8 93.4 91.4 90.8 90.8 90.8 90.8 90.8 90.8 90.8 90.8 90.8 90.8 90.8 90.8 90.8 O L o 3
78.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 100.0 98.3 90.8 85.4 81.7 79.2 77.8 773 773 773 773 773 773 773 773 773 773 773 773 o a o > ® S ¥
84.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 99.0 88.9 81.7 76.4 726 69.9 68.1 67.0 66.7 66.7 66.7 66.7 66.7 66.7 66.7 66.7 66.7 66.7 66.7 L z . 3 H\g 2 §
90.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0 97.0 90.8 81.2 743 69.2 65.4 62.5 60.5 59.1 58.4 58.1 58.1 58.1 58.1 58.1 58.1 58.1 58.1 58.1 58 1 HR <3 v @ nos
96.0 100.0 | 100.0 | 100.0 | 100.0 96.8 89.7 83.8 74.7 68.1 63.2 59.4 56.6 545 52.9 51.8 50.9 50.6 50.6 50.6 50.6 50.6 50.6 50.6 50.6 50.6 3‘) ; 55’ Q gL &
1020 | 100.0 | 100.0 | 100.0 985 90.2 83.4 77.8 69.2 62.8 58.1 54.1 50.5 47.8 45.7 442 431 42.4 422 422 422 422 422 422 422 422 wg 3 g rainge)
1080 | 100.0 | 100.0 | 100.0 92.2 84.3 77.9 72.6 64.2 57.1 51.7 476 443 41.7 39.7 38.2 37.0 36.2 35.7 35.6 35.6 35.6 35.6 35.6 356 356 a g o | = % ‘2 E;’ ©
1140 | 100.0 | 100.0 96.1 86.7 78.5 7.7 66.1 57.3 50.9 46.0 422 39.2 36.8 34.9 33.4 32.2 314 30.7 30.4 30.2 30.2 30.2 30.2 30.2 30.2 :’(’ g S 2 a8 < 3
1200 | 100.0 95.1 83.5 746 67.4 61.6 56.9 49.4 43.9 39.7 36.4 33.9 31.8 30.2 28.9 27.8 27.0 26.4 26.0 25.8 25.7 25.7 25.7 25.7 25.7 - W os 5 8
126.0 95.4 82.0 72.0 64.3 58.1 53.1 48.9 425 37.7 34.0 312 28.9 271 256 24.4 235 22.7 22.1 217 21.4 21.2 211 211 211 211 W < 2455 %
132.0 82.9 713 62.6 55.8 50.4 46.1 424 36.8 326 29.4 26.9 24.9 23.3 22.0 20.9 20.0 19.3 18.7 18.3 18.0 17.7 17.6 175 17.5 175 P & Lo <
138.0 725 62.3 54.7 48.8 44.1 40.2 37.0 32.1 28.4 25.6 23.4 216 20.2 19.0 18.0 17.2 16.6 16.0 15.6 15.3 15.0 - - - - F e @ A z
144.0 63.8 54.8 48.1 42.9 38.7 353 325 28.1 24.9 22.4 20.4 18.9 17.6 16.5 15.6 - - - - - ) - - - - = <l <
Flz| 2
NOTE: w 3 g.- 5
1) MULLION CHART APPLIES TO 4-9/16" (ITEM #1A) GROUP Il REINFORCED COMPOSITE MULL -
ASSEMBLIES, WHEN MULLED IN ONE-WAY, STACK OR RIBBON, CONFIGURATIONS. a|=|=

2) DESIGN PRESSURE VALUES ARE POSITIVE AND NEGATIVE IN PSF. 7 /
3) MAXIMUM DEFLECTION HAS BEEN LIMITED TO L/180.
4) DESIGN PRESSURE OF ASSEMBLY IS LIMITED TO THE LESSER DESIGN PRESSURE OF THE MULLION
ASSEMBLY OR THE INDIVIDUAL UNIT OF INSTALLATION. ADJACENT WINDOWS OR DOORS SHALL
BE UNDER SEPARATE FL OR MIAMI-DADE APPROVAL.
5) MULLION CHART APPLIES TO THE FOLLOWING INSTALLATION CONDITIONS: L
o GUSSET INSTALLATION TO WOOD OR METAL STUD
o HALF GUSSET INSTALLATION TO WOOD OR METAL STUD.
6) TRIBUTARY WIDTH = W = (A+B)/2
7) REFER TO SHEETS 8 & 9 FOR INSTALLATION DETAILS.
8) WHEN WINDOWS ARE STACKED VERTICALLY, THE MANUFACTURER/INSTALLER SHALL ENSURE p
THAT THE WEIGHT OF UNITS ABOVE WILL NOT CAUSE DEFLECTIONS OR STRESSES WHICH WILL 4
AFFECT OPERATION OR STRUCTURAL ADEQUACY OF UNITS BELOW. :
ugn i AN

i

7

%)
Z
O
H
V)
H
=
1N
(a4

Z
£
a
=
o
O
%)
w
Ja)

REV. TO ICNLUDE 6-9/16" MULL
UPDATE MULL TABLES & T.O.C.

A\

BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338

nAY

DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION NO. 29578

HERMES F. NORERO, P.E.
FLORIDA P. E. NO. 73778

-

ug

A+B=W




8/20/2016 7:03 PM

s:\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion revision\dwgs\awd086.dwg

MAXIMUM DESIGN PRESSURE CAPACITY CHART (PSF): GROUP lll

L - Mull W - Tributary Width (in)

Length (in) 54.0 60.0 66.0 72.0

78.0

84.0

24.0 100.0 100.0 100.0 100.0

100.0

100.0

30.0 100.0 100.0 100.0 100.0

100.0

100.0

36.0 100.0 100.0 100.0 100.0

100.0

100.0

42.0 100.0 100.0 100.0 100.0

100.0

100.0

48.0 100.0 100.0 100.0 100.0

100.0

100.0

54.0 100.0 100.0 100.0 100.0

100.0

100.0

60.0 100.0 100.0 100.0 100.0

100.0

100.0

Andersen.

AY ¥

WINDOWS+*DOORS

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096

PH: (651) 264-5150 FX: (651) 264-5485

66.0 100.0 100.0 100.0 100.0

100.0

100.0

72.0 96.8 93.4 91.4 90.8

90.8

90.8

78.0 85.4 81.7 79.2 77.8

77.3

77.3

84.0 76.4 72.6 69.9 68.1

67.0

66.7

90.0 69.2 65.4 62.5 60.5

59.1

58.4

96.0 63.2 59.4 56.6 54.5

52.9

51.9

102.0 58.1 54.5 51.7 49.5

47.9

46.7

108.0 . 53.8 50.3 47.5 45.4

43.7

42.4

114.0 . 49.5 45.6 42.5 40.0

38.1

36.5

120.0 421 38.6 35.9 33.7

32.0

30.6

126.0 36.1 33.1 30.6 28.7

27.2

25.9

132.0 . 31.2 28.5 26.4 24.7

23.3

221

138.0 271 24.8 22.9 21.4

20.1

19.1

144.0 23.7 21.7 20.0 18.6

17.5

16.6

TITLE: A SERIES REINFORCED
MULLION ASSEMBLY
ONE WAY
LOAD TABLE: GROUP III
398 E. DANTIA BEACH BLVD. #338
DANIA BEACH, FL 33004

(954) 744-4738

FX:

PH: (954) 399-8478

NOTE:
1) MULLION CHART APPLIES TO 4-9/16" (ITEM #1A) GROUP Il REINFORCED COMPOSITE MULL
ASSEMBLIES, WHEN MULLED IN ONE-WAY, STACK OR RIBBON, CONFIGURATIONS.
2) DESIGN PRESSURE VALUES ARE POSITIVE AND NEGATIVE IN PSF.
3) MAXIMUM DEFLECTION HAS BEEN LIMITED TO L/180.
4) DESIGN PRESSURE OF ASSEMBLY IS LIMITED TO THE LESSER DESIGN PRESSURE OF THE MULLION

ASSEMBLY OR THE INDIVIDUAL UNIT OF INSTALLATION. ADJACENT WINDOWS OR DOORS SHALL
BE UNDER SEPARATE FL OR MIAMI-DADE APPROVAL.
5) MULLION CHART APPLIES TO THE FOLLOWING INSTALLATION CONDITIONS:
e GUSSET INSTALLATION TO WOOD OR METAL STUD
o HALF GUSSET INSTALLATION TO WOOD OR METAL STUD.
6) TRIBUTARY WIDTH = W = (A+B)/2
7) REFER TO SHEETS 8 & 9 FOR INSTALLATION DETAILS.
8) WHEN WINDOWS ARE STACKED VERTICALLY, THE MANUFACTURER/INSTALLER SHALL ENSURE
THAT THE WEIGHT OF UNITS ABOVE WILL NOT CAUSE DEFLECTIONS OR STRESSES WHICH WILL
AFFECT OPERATION OR STRUCTURAL ADEQUACY OF UNITS BELOW.

ms | 071116 | 72) BUILDING DROPS, INC.

Ms | 02.09.16 | PREPARED BY:

BY | DATE

REVISIONS
DESCRIPTION

REV. TO ICNLUDE 6-9/16" MULL
UPDATE MULL TABLES & T.O.C.

BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338

HERMES F. NORERO, P.E.
FLORIDA P. E. NO. 73778

DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION NO. 29578




MAXIMUM DESIGN PRESSURE CAPACITY CHART (PSF): GROUP |, II, OR lll (TWO-WAY CONFIGURATIONS)

L - Mull

W - Tributary Width (in)

Andersen.

8/20/2016 7:03 PM

s:\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion revision\dwgs\awd086.dwg

Length (in) 42.0 48.0 54.0 60.0 66.0 72.0 78.0 84.0 90.0
24.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
30.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 93.4 87.1
36.0 100.0 100.0 100.0 100.0 99.0 90.8 83.8 77.8 72.6
42.0 100.0 100.0 100.0 93.4 84.9 77.8 71.8 66.7 62.2
48.0 100.0 100.0 90.8 81.7 74.3 68.1 62.8 58.4 54.5 _ 100 FOURTH AVE NORTH
54.0 100.0 90.8 80.7 72.6 66.0 60.5 55.9 51.9 48.4 PH: (6581;‘\2/22?51;5A(;\NF5;50(235-11)029664-5485
60.0 93.4 81.7 72.6 65.4 59.4 54.5 50.3 46.7 43.6
66.0 84.9 74.3 66.0 59.4 54.0 49.5 45.7 42.4 39.6
72.0 77.8 68.1 60.5 54.5 495 454 41.9 38.9 36.3
78.0 71.8 62.8 55.9 50.3 45.7 41.9 38.7 35.9 33.5
84.0 66.7 58.4 51.9 46.7 42.4 38.9 35.9 33.3 31.1
90.0 62.2 54.5 48.4 43.6 39.6 36.3 335 31.1 29.0
96.0 57.8 50.6 45.0 40.5 36.8 33.7 31.1 28.9 27.0
102.0 51.2 44.8 39.8 35.9 32.6 29.9 27.6 25.6 23.9
108.0 . 45.7 40.0 35.5 32.0 29.1 26.7 24.6 22.8 21.3
114.0 41.0 35.9 31.9 28.7 26.1 23.9 22.1 20.5 19.1
120.0 37.0 32.4 28.8 25.9 23.6 21.6 19.9 18.5 17.3
126.0 33.6 29.4 26.1 235 21.4 19.6 18.1 16.8 15.7
132.0 30.6 26.8 23.8 21.4 19.5 17.8 16.5 15.3
138.0 28.0 24.5 21.8 19.6 17.8 16.3 15.1
144.0 25.7 22.5 20.0 18.0 16.4

NOTE:
1) MULLION CHART APPLIES TO 4-9/16" (ITEM #1A) GROUP |, Il, OR Ill REINFORCED COMPOSITE
MULL ASSEMBLIES, WHEN MULLED IN TWO-WAY, 'X' OR 'T', CONFIGURATIONS.
2) DESIGN PRESSURE VALUES ARE POSITIVE AND NEGATIVE IN PSF.
3) MAXIMUM DEFLECTION HAS BEEN LIMITED TO L/180. e
4) DESIGN PRESSURE OF ASSEMBLY IS LIMITED TO THE LESSER DESIGN PRESSURE OF THE MULLION
ASSEMBLY OR THE INDIVIDUAL UNIT OF INSTALLATION. ADJACENT WINDOWS OR DOORS SHALL
BE UNDER SEPARATE FL OR MIAMI-DADE APPROVAL.
5) MULLION CHART APPLIES TO THE FOLLOWING INSTALLATION CONDITIONS:
e V-NOTCH GUSSET INSTALLATION TO WOOD OR METAL STUD
o HALF GUSSET INSTALLATION TO WOOD OR METAL STUD.
6) TRIBUTARY WIDTH = W = (A+B)/2 .
7) REFER TO SHEETS 8 OR 9 FOR INSTALLATION DETAILS. i
8) WHEN WINDOWS ARE STACKED VERTICALLY, THE MANUFACTURER/INSTALLER SHALL ENSURE
THAT THE WEIGHT OF UNITS ABOVE WILL NOT CAUSE DEFLECTIONS OR STRESSES WHICH WILL
AFFECT OPERATION OR STRUCTURAL ADEQUACY OF UNITS BELOW.

WINDOWS+*DOORS

FX: (954)744-4738

TWO WAY
LOAD TABLE: GROUP I, IT, ITI

MULLION ASSEMBLY

DANIA BEACH, FL 33004

PH: (954) 399-8478

TITLE: A SERIES REINFORCED
398 E. DANIA BEACH BLVD. #338

Ms | 02.09.16 | PREPARED BY:
ms | 071116 | 72) BUILDING DROPS, INC.

BY | DATE

NNANANNNNNNNNNNNNNN

N
R

\
\

N
N
N
3

ANANNANANNNNNNNNNYY

REVISIONS

DESCRIPTION

REV. TO ICNLUDE 6-9/16" MULL
UPDATE MULL TABLES & T.O.C.

N\

7
%

157 I s
g
//

/i

%

saz

%

u:’

1% / %

\

AN NNNNANNNNNY

IIIIIIII

BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD, #338

N
\
N
N
N

DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION NO. 29578

N
HERMES F. NORERO, P.E.
FLORIDA P. E. NO. 73778

AR

NANNNANNNNNY

AT

AAANANANNANNANNNNNNNNNY

N

IIIIIIIII/’A

7777772

SCALE:
NTS




8/20/2016 7:03 PM

s:\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion revision\dwgs\awd086.dwg

MAXIMUM DESIGN PRESSURE CAPACITY CHART (PSF): GROUP IV [Rn(:lerser'l3
L - Mull W - Tributary Width (in)
Length (in)[ 18,0 21.0 24.0 27.0 30.0 33.0 36.0 42.0 48.0 54.0 60.0 66.0 72.0 78.0 84.0 90.0 96.0 102.0 | 108.0 | 1140 | 120.0 | 126.0 | 1320 | 138.0 | 144.0 AY \
24.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0
30.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 ™
36.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 1000 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 WINDOWS +DOORS
42.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0
48.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 ;g‘;fg;f;“,\lgg%o“f_f&
54.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 1000 | 100.0 | 1000 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 PH: (651) 264-5150 FX: (651) 264-5485
60.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 1000 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 © ©
(2]
66.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 2 . o e &
72.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 & 2 P SR 3 ¥
78.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 08.7 98.1 98.1 98.1 98.1 98.1 98.1 98.1 98.1 98.1 98.1 98.1 98.1 2 = 3 & 29 %
84.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 96.9 92.1 88.6 86.3 85.0 84.6 84.6 84.6 84.6 84.6 84.6 84.6 84.6 84.6 84.6 84.6 P N z& wa® )
90.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 94.2 87.7 82.9 79.3 76.7 75.0 74.0 73.7 73.7 73.7 73.7 73.7 73.7 73.7 73.7 73.7 73.7 ¥< 2y S T
96.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 94.7 86.3 80.1 75.3 71.8 69.1 67.1 65.8 65.0 64.8 64.8 64.8 64.8 64.8 64.8 64.8 64.8 64.8 o % %Ep(?‘ P =3
102.0 100.0 100.0 100.0 100.0 100.0 100.0 98.7 87.7 79.7 73.7 69.1 65.5 62.8 60.7 59.2 58.2 57.6 57.4 57.4 57.4 57.4 57.4 57.4 57.4 57.4 &4 Oy e S e
108.0 100.0 100.0 100.0 100.0 100.0 98.8 92.1 81.7 74.0 68.2 63.8 60.3 57.6 55.4 53.8 52.6 51.8 51.3 51.2 51.2 51.2 512 512 512 512 = 21 a 2592 3
114.0 100.0 100.0 100.0 100.0 100.0 92.7 86.3 76.4 69.1 63.5 59.2 55.8 53.1 51.0 49.3 48.0 471 46.4 46.0 45.9 45.9 45.9 459 459 45.9 <= 8 ala Z S 2
120.0 100.0 100.0 100.0 100.0 94.7 87.4 81.3 71.8 64.8 59.4 55.3 52.0 49.3 47.2 45.3 435 42.1 41.1 40.4 40.0 39.8 39.8 39.8 39.8 39.8 o o H o z 2
126.0 100.0 100.0 100.0 98.2 89.6 82.6 76.7 67.7 60.9 55.8 51.8 48.1 45.0 42.4 40.3 38.6 37.3 36.2 35.4 34.8 34.5 34.4 34.4 34.4 34.4 P 8 @ g o g
132.0 100.0 100.0 100.0 93.3 85.0 78.3 72.7 64.0 56.9 51.3 46.9 43.4 40.5 38.2 36.2 34.6 33.3 322 314 30.7 30.3 30.0 29.9 29.9 29.9 H o @ a £
138.0 100.0 100.0 95.4 85.1 76.9 70.2 64.6 56.0 49.6 44.6 40.8 37.7 35.2 33.1 31.4 30.0 28.9 28.0 27.2 26.6 26.2 25.9 25.7 25.6 25.6
144.0 100.0 95.6 83.9 74.8 67.6 61.7 56.8 49.1 43.4 39.1 35.7 32.9 30.7 28.8 27.3 26.0 25.0 24.1 234 229 22.4 22.1 21.8 217 216 o Qe
o —
< |S]|=
NOTE: w oyl
1) MULLION CHART APPLIES TO 6-9/16" (ITEM #1B) GROUP IV REINFORCED COMPOSITE MULL i N
ASSEMBLIES, WHEN MULLED IN ONE-WAY, STACK OR RIBBON, CONFIGURATIONS. / 4 o |=[=
2) DESIGN PRESSURE VALUES ARE POSITIVE AND NEGATIVE IN PSF. 7 Vp)
3) MAXIMUM DEFLECTION HAS BEEN LIMITED TO L/180. Z N
|} (O]
4) DESIGN PRESSURE OF ASSEMBLY IS LIMITED TO THE LESSER DESIGN PRESSURE OF THE MULLION Z O 2|0
ASSEMBLY OR THE INDIVIDUAL UNIT OF INSTALLATION. ADJACENT WINDOWS OR DOORS SHALL [ .| CZ> > t;
BE UNDER SEPARATE FL OR MIAMI-DADE APPROVAL. Vp) Fla|d
! i}
5) MULLION CHART APPLIES TO THE FOLLOWING INSTALLATION CONDITIONS: L Hly ol 2
o
e GUSSET INSTALLATION TO WOOD OR METAL STUD % > 3 § K
-
e HALF GUSSET INSTALLATION TO WOOD OR METAL STUD. ‘Elz-’ w Z 2
6) TRIBUTARY WIDTH = W = (A+B)/2 o W
[t
7) REFER TO SHEETS 8 & 9 FOR INSTALLATION DETAILS. > 3
w (a1
8) WHEN WINDOWS ARE STACKED VERTICALLY, THE MANUFACTURER/INSTALLER SHALL ENSURE / y a| 3
THAT THE WEIGHT OF UNITS ABOVE WILL NOT CAUSE DEFLECTIONS OR STRESSES WHICH WILL /
AFFECT OPERATION OR STRUCTURAL ADEQUACY OF UNITS BELOW.
ngn | "An ©
' 2
'9, N
L mgo%gg
A
gugﬁg%
oo
\ wa'Q &5
\ ﬂ<§2m<
Z25358
llAll %gmujg;.
28
" w
o
g
w i § S 1 .-
o
S&
)
A + B : W IIBII U)
: A\ V;\ WDO086

SHEET: 14 OF15



8/20/2016 7:03 PM

s:\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion revision\dwgs\awd086.dwg

MAXIMUM DESIGN PRESSURE CAPACITY CHART (PSF): GROUP V

L - Mull W - Tributary Width (in)

Length (in) 54.0 60.0 66.0 72.0

78.0

84.0

24.0 100.0 100.0 100.0 100.0

100.0

100.0

30.0 100.0 100.0 100.0 100.0

100.0

100.0

36.0 100.0 100.0 100.0 100.0

100.0

100.0

42.0 100.0 100.0 100.0 100.0

100.0

100.0

48.0 100.0 100.0 100.0 100.0

100.0

100.0

54.0 100.0 100.0 100.0 100.0

100.0

100.0

60.0 100.0 100.0 100.0 100.0

100.0

100.0

Andersen.

AY ¥

WINDOWS+*DOORS

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096

PH: (651) 264-5150 FX: (651) 264-5485

66.0 100.0 100.0 100.0 100.0

100.0

100.0

72.0 100.0 100.0 100.0 100.0

100.0

100.0

78.0 100.0 100.0 100.0 98.7

98.1

98.1

84.0 96.9 92.1 88.6 86.3

85.0

84.6

90.0 87.7 82.9 79.3 76.7

75.0

74.0

96.0 80.1 75.3 71.8 69.1

67.1

65.8

102.0 73.7 69.1 65.5 62.8

60.7

59.2

108.0 68.2 63.8 60.3 57.6

55.4

53.8

114.0 63.5 59.2 55.8 53.1

51.0

49.3

120.0 59.4 55.3 52.0 49.3

47.2

45.5

126.0 55.8 51.8 48.6 46.0

44.0

42.3

132.0 52.6 48.5 44.9 42.0

39.6

37.7

138.0 46.1 421 38.9 36.3

34.2

32.5

TITLE: A SERIES REINFORCED
MULLION ASSEMBLY
ONE WAY
LOAD TABLE: GROUP V
398 E. DANTIA BEACH BLVD. #338
DANIA BEACH, FL 33004

(954) 744-4738

FX:

PH: (954) 399-8478

144.0 40.4 36.9 34.0 31.7

29.8

28.2

NOTE:
1) MULLION CHART APPLIES TO 6-9/16" (ITEM #1B) GROUP V REINFORCED COMPOSITE MULL
ASSEMBLIES, WHEN MULLED IN ONE-WAY, STACK OR RIBBON, CONFIGURATIONS.
2) DESIGN PRESSURE VALUES ARE POSITIVE AND NEGATIVE IN PSF.
3) MAXIMUM DEFLECTION HAS BEEN LIMITED TO L/180.
4) DESIGN PRESSURE OF ASSEMBLY IS LIMITED TO THE LESSER DESIGN PRESSURE OF THE MULLION

ASSEMBLY OR THE INDIVIDUAL UNIT OF INSTALLATION. ADJACENT WINDOWS OR DOORS SHALL
BE UNDER SEPARATE FL OR MIAMI-DADE APPROVAL.
5) MULLION CHART APPLIES TO THE FOLLOWING INSTALLATION CONDITIONS:
e GUSSET INSTALLATION TO WOOD OR METAL STUD
e HALF GUSSET INSTALLATION TO WOOD OR METAL STUD.
6) TRIBUTARY WIDTH = W = (A+B)/2
7) REFER TO SHEETS 8 & 9 FOR INSTALLATION DETAILS.
8) WHEN WINDOWS ARE STACKED VERTICALLY, THE MANUFACTURER/INSTALLER SHALL ENSURE
THAT THE WEIGHT OF UNITS ABOVE WILL NOT CAUSE DEFLECTIONS OR STRESSES WHICH WILL
AFFECT OPERATION OR STRUCTURAL ADEQUACY OF UNITS BELOW.

ms | 071116 | 72) BUILDING DROPS, INC.

Ms | 02.09.16 | PREPARED BY:

BY | DATE

REVISIONS
DESCRIPTION

REV. TO ICNLUDE 6-9/16" MULL
UPDATE MULL TABLES & T.O.C.

BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338

HERMES F. NORERO, P.E.
FLORIDA P. E. NO. 73778

DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION NO. 29578




8/20/2016 7:03 PM

s:\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion revision\dwgs\awd086.dwg

MAXIMUM DESIGN PRESSURE CAPACITY CHART (PSF): GROUP VI

L - Mull W - Tributary Width (in)

Length (in) 54.0 60.0 66.0 72.0

78.0

84.0

24.0 100.0 100.0 100.0 100.0

100.0

100.0

30.0 100.0 100.0 100.0 100.0

100.0

100.0

36.0 100.0 100.0 100.0 100.0

100.0

100.0

42.0 100.0 100.0 100.0 100.0

100.0

100.0

48.0 100.0 100.0 100.0 100.0

100.0

100.0

54.0 100.0 100.0 100.0 100.0

100.0

100.0

60.0 100.0 100.0 100.0 100.0

100.0

100.0

Andersen.

AY ¥

WINDOWS+*DOORS

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096

PH: (651) 264-5150 FX: (651) 264-5485

66.0 100.0 100.0 100.0 100.0

100.0

100.0

72.0 100.0 100.0 100.0 100.0

100.0

100.0

78.0 100.0 100.0 100.0 98.7

98.1

98.1

84.0 96.9 92.1 88.6 86.3

85.0

84.6

90.0 87.7 82.9 79.3 76.7

75.0

74.0

96.0 80.1 75.3 71.8 69.1

67.1

65.8

102.0 73.7 69.1 65.5 62.8

60.7

59.2

108.0 68.2 63.8 60.3 57.6

55.4

53.8

114.0 63.5 59.2 55.8 53.1

51.0

49.3

120.0 59.4 55.3 52.0 49.3

47.2

45.5

126.0 55.8 51.8 48.6 46.0

44.0

42.3

132.0 52.6 48.8 45.7 431

40.7

38.7

138.0 47.4 43.3 40.0 37.3

35.1

33.3

TITLE: A SERIES REINFORCED
MULLION ASSEMBLY
ONE WAY
LOAD TABLE: GROUP VI
398 E. DANTIA BEACH BLVD. #338
DANIA BEACH, FL 33004

(954) 744-4738

FX:

PH: (954) 399-8478

144.0 415 37.8 349 325

30.6

29.0

NOTE:
MULLION CHART APPLIES TO 6-9/16" (ITEM #1B) GROUP VI REINFORCED COMPOSITE MULL
ASSEMBLIES, WHEN MULLED IN ONE-WAY, STACK OR RIBBON, CONFIGURATIONS.
DESIGN PRESSURE VALUES ARE POSITIVE AND NEGATIVE IN PSF.
MAXIMUM DEFLECTION HAS BEEN LIMITED TO L/180.
DESIGN PRESSURE OF ASSEMBLY IS LIMITED TO THE LESSER DESIGN PRESSURE OF THE MULLION
ASSEMBLY OR THE INDIVIDUAL UNIT OF INSTALLATION. ADJACENT WINDOWS OR DOORS SHALL
BE UNDER SEPARATE FL OR MIAMI-DADE APPROVAL.
MULLION CHART APPLIES TO THE FOLLOWING INSTALLATION CONDITIONS:
e GUSSET INSTALLATION TO WOOD OR METAL STUD
o HALF GUSSET INSTALLATION TO WOOD OR METAL STUD.
6) TRIBUTARY WIDTH = W = (A+B)/2
7) REFER TO SHEETS 8 & 9 FOR INSTALLATION DETAILS.
8) WHEN WINDOWS ARE STACKED VERTICALLY, THE MANUFACTURER/INSTALLER SHALL ENSURE
THAT THE WEIGHT OF UNITS ABOVE WILL NOT CAUSE DEFLECTIONS OR STRESSES WHICH WILL
AFFECT OPERATION OR STRUCTURAL ADEQUACY OF UNITS BELOW.

ms | 071116 | 72) BUILDING DROPS, INC.

Ms | 02.09.16 | PREPARED BY:

BY | DATE

REVISIONS
DESCRIPTION

REV. TO ICNLUDE 6-9/16" MULL
UPDATE MULL TABLES & T.O.C.

BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338

HERMES F. NORERO, P.E.
FLORIDA P. E. NO. 73778

DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION NO. 29578

SHEET: 16 OF15




8/20/2016 7:03 PM

s:\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion revision\dwgs\awd086.dwg

MAXIMUM DESIGN PRESSURE CAPACITY CHART (PSF): GROUP IV, V, OR VI (TWO-WAY CONFIGURATIONS) A d

L - Mull W - Tributary Width (in) n ersen3

Length (in) 42.0 48.0 54.0 60.0 66.0 72.0 78.0 84.0 90.0 96.0 AY \ J
24.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
30.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
36.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 98.7 92.1 86.3
42.0 100.0 100.0 100.0 100.0 100.0 98.7 91.1 84.6 78.9 74.0
48.0 100.0 100.0 100.0 100.0 94.2 86.3 79.7 74.0 69.1 64.8 100 FOURTH AVE NORTH
54.0 100.0 100.0 100.0 92.1 83.7 76.7 70.8 65.8 61.4 57.6 BAYPORT, MN 55003-1096

PH: (651) 264-5150 FX: (651) 264-5485

60.0 100.0 100.0 92.1 82.9 75.3 69.1 63.8 59.2 55.3 51.8
66.0 100.0 94.2 83.7 75.3 68.5 62.8 58.0 53.8 50.2 47.1
72.0 . 98.7 86.3 76.7 69.1 62.8 57.6 53.1 49.3 46.0 43.2
78.0 91.1 79.7 70.8 63.8 58.0 53.1 49.0 45.5 425 39.8
84.0 84.6 74.0 65.8 59.2 53.8 49.3 455 42.3 39.5 37.0
90.0 78.9 69.1 61.4 55.3 50.2 46.0 425 39.5 36.8 34.5
96.0 74.0 64.8 57.6 51.8 47.1 43.2 39.8 37.0 34.5 32.4
102.0 69.6 60.9 54.2 48.8 443 40.6 375 34.8 32.5 30.5
108.0 65.8 57.6 51.2 46.0 41.9 38.4 35.4 32.9 30.7 28.8
114.0 62.3 54.5 485 43.6 39.7 36.4 33.6 31.2 29.1 27.3
120.0 59.2 51.8 46.0 41.4 37.7 345 31.9 29.6 27.6 25.9
126.0 56.4 49.3 43.9 39.5 35.9 32.9 30.4 28.2 26.3 24.7
132.0 51.5 45.1 40.0 36.0 32.8 30.0 27.7 25.7 24.0 22.5
138.0 47.1 41.2 36.6 33.0 30.0 27.5 25.4 23.6 22.0 20.6
144.0 43.3 37.9 33.7 30.3 27.5 25.2 23.3 21.6 20.2 18.9

™
WINDOWS+*DOORS

(954) 744-4738

FX:

TWO WAY
LOAD TABLE: GROUP IV, V, VI

MULLION ASSEMBLY

DANIA BEACH, FL 33004

398 E. DANIA BEACH BLVD. #338

PH: (954) 399-8478

TITLE: A SERIES REINFORCED

NOTE:
1) MULLION CHART APPLIES TO 6-9/16" (ITEM #1B) GROUP IV, V, OR VI REINFORCED COMPOSITE
MULL ASSEMBLIES, WHEN MULLED IN TWO-WAY, 'X' OR 'T', CONFIGURATIONS.
DESIGN PRESSURE VALUES ARE POSITIVE AND NEGATIVE IN PSF.
MAXIMUM DEFLECTION HAS BEEN LIMITED TO L/180. e
DESIGN PRESSURE OF ASSEMBLY IS LIMITED TO THE LESSER DESIGN PRESSURE OF THE MULLION
ASSEMBLY OR THE INDIVIDUAL UNIT OF INSTALLATION. ADJACENT WINDOWS OR DOORS SHALL
BE UNDER SEPARATE FL OR MIAMI-DADE APPROVAL.
MULLION CHART APPLIES TO THE FOLLOWING INSTALLATION CONDITIONS:
e V-NOTCH GUSSET INSTALLATION TO WOOD OR METAL STUD
e HALF GUSSET INSTALLATION TO WOOD OR METAL STUD.
6) TRIBUTARY WIDTH = W = (A+B)/2
7) REFER TO SHEETS 8 OR 9 FOR INSTALLATION DETAILS.
8) WHEN WINDOWS ARE STACKED VERTICALLY, THE MANUFACTURER/INSTALLER SHALL ENSURE
THAT THE WEIGHT OF UNITS ABOVE WILL NOT CAUSE DEFLECTIONS OR STRESSES WHICH WILL
AFFECT OPERATION OR STRUCTURAL ADEQUACY OF UNITS BELOW.

ms | 071116 | 72) BUILDING DROPS, INC.

Ms | 02.09.16 | PREPARED BY:

BY | DATE

ANNNANNNNNN

NNANANNNNNN

N
N

\
N
R

\
N

N
N

Rl

REVISIONS
DESCRIPTION

RN, r IO ISR

N

R

S

N

22

N
N
N
N
N
:
N

REV. TO ICNLUDE 6-9/16" MULL
UPDATE MULL TABLES & T.O.C.

AN

TN

A\
~ \
: ““““\\\‘E
A\

N 222222222227

N

oW

.

NN
N
\
N
N
N

N

BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD, #338

N

NN

\

\

N

N

N
HERMES F. NORERO, P.E.
FLORIDA P. E. NO. 73778

DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION NO. 29578

%
_

AAANANNANNNNANNANANNNNNY

IIIIIIIII/’A

72277277772

N

N

SHEET: 17 OF15



8/20/2016 7:03 PM

si\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion revision\dwgs\awd086.dwg

BILL OF MATERIALS

DESCRIPTION

MATERTAL

MANUFACTURER

4-9/16" JOINING PLATE

FIBERGLASS

ANDERSEN CORPORATION

4-9/16" JOINING PLATE

6-9/16" JOINING PLATE

FIBERGLASS

ANDERSEN CORPORATION

FIBERGLASS

TRIM STRIP

ARPVC

ANDERSEN CORPORATION

ALIGNMENT SPACER, JOINING PLATE
ASER/WW/TW/FF/DOORS

PVC

ANDERSEN CORPORATION

5.750"

INTERSECTION BRACKET

GALVANIZED STEEL

ANDERSEN CORPORATION

ADH FRAME

WOoOoD

ANDERSEN CORPORATION

ADH CLADDING

FIBREX

ANDERSEN CORPORATION

ATF/APW FRAME

WOQ0oD

ANDERSEN CORPORATION

ATF CLADDING

FIBERGLASS

ANDERSEN CORPORATION

0.525" —

APW CLADDING

FIBERGLASS

ANDERSEN CORPORATION

AAN/ATV/ACW FRAME

WOoOoD

ANDERSEN CORPORATION

TRIM STRIP

AAN STLL

WOOoD

ANDERSEN CORPORATION

ARPVC

@)

AAN/ATV CLADDING

FIBERGLASS

ANDERSEN CORPORATION

—={ |=—— 0.450"

FWGED HEAD

WOoOoD

ANDERSEN CORPORATION

FWGED JAMBS

WOoOoD

ANDERSEN CORPORATION

FWGD CLADDING

FIBERGLASS

ANDERSEN CORPORATION

FWSLT FRAME

WOoOoD

ANDERSEN CORPORATION

FWSLT CLADDING

FIBERGLASS

ANDERSEN CORPORATION

1.656" I

FWHID FRAME

WOoOoD

ANDERSEN CORPORATION

FWHID CLADDING

FIBERGLASS

ANDERSEN CORPORATION

INTERSECTION BRACKET

FWOD FRAME

WOoOoD

ANDERSEN CORPORATION

@

GALVANIZED STEEL

FWOD CLADDING

FIBERGLASS

ANDERSEN CORPORATION

FLEXIFRAME

WOoOoD

ANDERSEN CORPORATION

| 8.000"

FLEXIFRAME CLADDING

FIBERGLASS

ANDERSEN CORPORATION

©

FW FRAME

WOoOoD

ANDERSEN CORPORATION

FW CLADDING

6063-T5

ANDERSEN CORPORATION

GEED I G

1.774"

©

ARCH. FRAME

WOoOoD

ANDERSEN CORPORATION

ARCH. CLADDING

6063-T5

ANDERSEN CORPORATION

?

FWGD CLADDING - JAMB

FIBERGLASS

ANDERSEN CORPORATION

END PLUG

GLASS FILLED
NYLON

ANDERSEN CORPORATION

ADH CLADDING

UNIVERSAL GUSSET, STRAIGHT, 18

GALVANIZED STEEL

ANDERSEN CORPORATION

()

FIBREX
TYP. WALL THICKNESS 0.110"

END SEAL

PVC

ANDERSEN CORPORATION

HALF GUSSET, LS SILL, RS HEAD

GALVANIZED STEEL

ANDERSEN CORPORATION

HALF GUSSET, RS SILL, LS HEAD

GALVANIZED STEEL

ANDERSEN CORPORATION

‘«— 2.886" »‘

ATF CLADDING
FIBERGLASS
TYP. WALL THICKNESS 0.080"

)

APW CLADDING
FIBERGLASS

TYP. WALL THICKNESS 0.080"

FD@E 0.8

AAN/ATV/ACW FRAME
WOOD

¢

‘<— 3.068" -

iﬁr\ 1.432"
n

1.432"

AAN STLL
WOoOoD

TL 3.240" »‘

6-9/16" JOINING PLATE
FIBERGLASS

7.750"

e

0.525" —

@ ALTGNMENT SPACER, JOINING PLATE
PVvC

— 478"
2.313"

_

.

ADH FRAME
WOOoD

®

Iy
L— 3.175" ——

ATF/APW FRAME

@ wWOoOoD “
il

1.432"

?

AAN/ATV CLADDING
FIBERGLASS
TYP. WALL THICKNESS 0.080"

(12)

2.885"

WINDOWS+*DOORS

Andersen.

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096

PH: (651) 264-5150 FX: (651) 264-5485

TITLE: A SERIES REINFORCED

MULLION ASSEMBLY
B.O.M. & COMPONENTS
398 E. DANTIA BEACH BLVD. #338

72} BUILDING DROPS, INC.

DANIA BEACH, FL 33004

PH: (954) 399-8478

FX: (954) 744-4738

Ms | 02.09.16 | PREPARED BY:

BY | DATE

REVISIONS
DESCRIPTION
REV. TO ICNLUDE 6-9/16" MULL

BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338

HERMES F. NORERO, P.E.
FLORIDA P. E. NO. 73778

DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION NO. 29578

SCALE:

NTS




8/20/2016 7:03 PM

evision\dwgs\awd086.dwg

si\projects\andersen windows\fbc-16-0614.3 - a series reinforced mullion r«

Andersen.

A"Y
FWGD HEAD @ FWGD JAMBS FWGD CLADDING @ FWSLT FRAME FWSLT CLADDING L_»’n

WOooD WOOD FIBERGLASS WOoOoD FIBERGLASS WINDOWSDOORS
TYP. WALL THICKNESS 0.080"

|— 4.242" —»‘ |l—— 4.186" 100 FOURTH AVE NORTH

’( 4.239" 4—‘ * - * |<— 4199" — =] * PH: (6581;‘\2/22?51;5A(;\NF5§()(235_11)029664—5485
(_' - - |'] 0.627" 0'6F5"L‘ n n H‘ Lote! 1.519" ?_\Lﬂ:l C n n |:|1 Lo0¢!

?—E—/ ééﬁiln L— 4.239" 4—‘ ? —f_

FX: (954) 744-4738

MULLION ASSEMBLY
COMPONENTS (1)

DANIA BEACH, FL 33004

PH: (954) 399-8478

@ FWID FRAME @ FWID @ FWOD FRAME FWOD CLADDING
wWOOoD FIBGERGLASS wWOOD FIBERGLASS
TYP. WALL THICKNESS 0.080" TYP. WALL THICKNESS 0.080"

I T =T
?

TITLE: A SERIES REINFORCED
398 E. DANIA BEACH BLVD. #338

72} BUILDING DROPS, INC.

Ms | 02.09.16 | PREPARED BY:

BY | DATE

f L ﬂ —L

FIBERGLASS WOOoD 6063-T5 WOoOoD 6063-T5

TYP. WALL THICKNESS 0.080"
| } i —‘ 2.093" |=—
2.077" 810" I;
10u I CJ_‘_/\_| .

2.356" _—i A
B EJ—\j H i
L _{ ——l 2.095" I~—

FLEXIFRAME CLADDING @ FW FRAME FW CLADDING ARCH. FRAME @ ARCH. FRAME

%)
Z
O
H
V)
H
=
N
(a4

Z
O
=
[a W
—
[a'4
QO
v
w
/Al

REV. TO ICNLUDE 6-9/16" MULL

A

FWGD CLADDING - JAMB
FIBERGLASS

—~—— 4.200" ——

éﬁﬁm

HERMES F. NORERO, P.E.
FLORIDA P. E. NO. 73778
BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION NO. 29578

SHEET: 19 OF15



8€Ly-v¥L (¥G6) :Xd 8.8-66¢€ (¥G6) :Hd 8/G6Z "ON NOLLVZIYOHLNY 40 "L¥3D 3d\d
wo B | SN
00£€ 14 'Hov3aga YINVQ “ONI ‘SdONa ONITTING =10l

8/£¢L "ON "3 *d VaNO14

8eEH AN HOV3Ia VINVA '3 86€ “T'd ‘ONIFAON "4 SINNIH
"ONI 'Sd0dq @ZHD\_HDm,@ N4dH

‘A9 Q3AVd3I™Ad | 916020 TINW ,91/6-9 3QANTINDI OL ‘A A8 AHD

o

SW1
(2) SLNaNOJdWO2 a1vq NOILdI™DS3q ' A9 NMQ

18W3SSY NOTTINW G121 ol
am\waﬂu_zwwm m%HHawM vV 37LIL WZOHWH\/WN_ :31vqQ

BAYPORT, MN 55003-1096
PH: (651) 264-5150 FX: (651) 264-5485

100 FOURTH AVE NORTH

WINDOWS+*DOORS

Andersen

AWDO86

DWG #:

HALF GUSSET, RS SILL,LS HEAD
14 GA. GALVANIZED STEEL

@

UNIVERSAL GUSSET, STRAIGHT, 18
14 GA. GALVANIZED STEEL

——| |~ 085"

HALF GUSSET, LS SILL, RS HEAD

14 GA. GALVANIZED STEEL

END PLUG
GLASS FILLED NYLON

Wd ¥0:£ 9102/02/8 BMmp*98OPMD\SBMP\UOISIAJ UOI||NW PBIJOJUID S21U3S D - £ $T90-9]-2G}\ SMOPUIM UBSIapuD\Sid2loud\ s



